o i A

¢ Mount Slider




Package Contents
Right rail slider x 1
Left rail slider x 1

Nut M6 x 6

Screw M6 x 8

Fixing stud x 4

.....!—l

Fixing stud

D
P

3
@ @ Screw Mé
DD
2D
22

Right rail slider

Left rail slider

2. Assembly Steps

Step 1: Insert 4 pieces of fixing nuts into the following locations of rail sliders. Be sure fix
them firmly. Then, pull apart two ends of rail sliders and place them in a chassis. Be sure the
pulling distance meets the depth of rack chassis and place fixing studs to the corresponding
holes on supporting columns. For example, if depth of rack chassis is 700mm, please pull the

length of rail sliders is 700mm.

E Fixing stud .
. ,':] Fixing stud
Fixing stud [
> 1| no
. - olle . :
Fixing stud J




See chart below:

Step 2: Use 4 pieces of M6 screws to mount rail sliders into chassis.

{\

M6 screw

=
o
Q
wn
O
2 =
&
Q
2]
O
= - -
PeOeCeOeMeee]
eMeMeeMoMeTo W .
o
177]
O
=

Step 3: According to UPS height, put 6 pieces of nuts on proper location.

— N

EEES & @rl

Nuts x 3

o e U o U o Y o O

SN sEN s ENe

)
eMe[eeMe™e™ee[e™e




step 4: Put UPS with assembled ears on the rail support.

([ mm]

oo =B00

0000

oo JeOeOeOeEoJo el

7

r |

Step 5: Fix the UPS in position with 4 screws.

Qo0
-0 cO-0
]
oo
]
[
1
]
L e Mo
5 B )
ooooa 00 0d
DeOe0eCetsCemetleCIo0

oJoMeededeDo[deoe

Assembly complete.

Step 6

[w]
X 53 A x
pClo] ool
1
hooo TE
]
1]
]
L}
[ o oo | ] T.u._

/ J

\ \_\

[om o o o O o (L L

]




